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1 Aufgabe 11.3

cos2 ωpt =
1

2
+

1

2
cos 2ωpt =

1

2
+
e2iωpt + e−2iωpt

4

F (ω) =
1

2

ˆ T

−T
eiωtdt+

1

4

ˆ T

−T
ei(ω+2ωp)tdt+

1

4

ˆ T

−T
ei(ω−2ωp)tdt

F (ω) =
1

ω
sin(ωT ) +

1

2(ω + 2ωp)
sin(ωT + 2ωpT ) +

1

2(ω − 2ωp)
sin(ωT − 2ωpT )

F (ω) = Tsinc(ωT ) +
T

2
sinc(ωT + 2ωpT ) +

T

2
sinc(ωT − 2ωpT )

2 Aufgabe 11.19

Allgemein haben wir

g(X) = f(x)⊗ h(x) =

ˆ ∞
−∞

f(x)h(X − x)dx

und hier

f(x− x0)⊗ h(x) =

ˆ ∞
−∞

f(x− x0)h(X − x)dx

Wir setzen x− x0 = α und erhalltenˆ ∞
−∞

f(α)h(X − α− x0)dα = g(X − x0

3 Aufgabe 11.28

4 Aufgabe 11.30

E(Y, Z) =

∞̈

−∞

A(y, z)eik(Y y+Zz)/R dy dz

E′(Y, Z) =

∞̈

−∞

A(αy, βz)eik(Y y+Zz)/R dy dz;
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wir setzen nun y′ = αy und z′ = βz und so ist

E′(Y, Z) =
1

αβ

∞̈

−∞

A(y′, z′)eik [(Y/a)y′+(Z/β)z′] dy′ dz′

oder E′(Y, Z) =
1

αβ
E

(
Y

α
,
Z

β

)
.

5 Aufgabe 11.31

Cff (τ) = lim
T→∞

1

2T

ˆ +T

−T
f(t) f(t− τ) dt

= lim
T→∞

1

2T

ˆ +T

−T
A sin(ωt+ ε)A sin(ωt− ωτ + ε)dt

Wir wissen
cosα− cosβ = −2 sin(

α+ β

2
) sin(

α− β

2
)

Wann α = ωτ und β = 2ωt− ωτ + 2ε dann:

Cff (τ) = lim
T→∞

A2

2T

ˆ +T

−T

[
1

2
cos(ωτ)− 1

2
cos(2ωt− ωτ + 2ε)

]
dt

=
A2

2
cos(ωτ)

6 Aufgabe 11.32

E(kz) =

ˆ b/2

−b/2
A0 cos(πz/b)e

ikzzdz

= A0

ˆ
cos

πz

b
cos kzzdz + iA0

ˆ
cos

πz

b
sin kzzdz

= A0 cos
bkz
2

[
1

(πb − kz)
+

1

(πb + kz)

]
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